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SECTION A (60 MARKS) . _
For each of these questions, select the best of the answer choices given
correct answer in your answer booklet.

. Write the

1. Operations management is applicable:
A. mostly to the service sector.
B. to services exclusively.
C. mostly to the manutacturing sector.
D. to all firms, whether manufacturing or service.

2. Which of the following are the primary tunctions of atl organizations?
A. production/operations, marketing, and human resources
B. marketing, human resources, and tinance/accounting
C. sales, quality control, and production/operations
D. marketing, production/operations, and flnance/accounting

3. Which of the following would NOT be an operations function in a commercial bank?

A, auditing

B. teller scheduling
. mamienance
D. collecuon

4. The marketing lunction's main concern is with:
A. producing goods or providing services.
B. procuring wmaterials, supplies, and equipment.
C. building and maintaining a positive image. _ .
D). generating the demand for the organization's products or services.

3. “hick of the following tasks within an airline company are related to operations?

A. crew scheduling
. Mlemational monetary exchange
- Sdkg
D. wd\rcnmng
. Rmir;":f Stucy operauons management include learning about:
“eople organize themselves for productive enterprise.
Wh":t%:-%ds are) services are produced.
Pations managers do.

. allof the a,yye.

OO

7. An "Pﬂf:"’:l’:;fs m“;'l';cr is NOT likely to be involved in: |
the qual%t‘;! L_E%ds and sarvijces to satiiﬁf?' customers’ wanty and needs.
the idcntiﬁcaﬁg;.)r:ds and services to satisfy customers’ “.f.ants and needs.
work scheduti Cigustomers wants and ne_ads.

Seheduimg o meer the due dates promised to customers.
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8. Al of the following decisions fall within the scope of operations management EXCEPT %
for: -ﬂ
A. creating the company income statement.
B. design of goods and services.
C. locatlon strategy. .
. managing quality. S

9. Which of the following is NOT one of the 10 strategic operations management
decisions?
A, 1ayout swategy
B. mamnienance
C. process and capacily design
D. mass customization

10. Waiter Shewhart is listed among the important people of operations management
because of his contributions to-
A. assembly line production.
B. mecasuring produectivity in the service sector.
C. just-in-time inventory methods.
D. statistical quality control.

1. Who was the person most responsible tor popularizing interchangeable pans in
manuiacturing®? R
A. Frederick Winslow Taylor
B. Henry Ford
C. Eli Whitney
D. Whitney Housion

12. Henry Ford is noted for his contributions to:
A. material requirements planning.
B. statistical quality control.
C. assembly line operations.
D, scientitic management.

13. Which of the {ollowing is the best example of a pure aervme'?
A. counseiing
B. o1l change
C. heart transplant
[}, restaurant

14. Which is NOT true regarding differences between goods and services?
A. Tangible goods are generally produced ahd consumed simultaneously; services
arg not. -
B. Most goods are common Lo many ¢ustomers; services are often umque o't m
customer.
Services tend to have a more inconsistent product definition than goods.
. None, i.¢., all of the above are true.
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15. Which of the following is a similarity between goods and services?
A. Mass production
B. consmmency
C. automarion
D. Both have quality standards.

16. Productivity measurement is complicated by:
A, the competition's output.
B. the fact that precise units of measure are often unavailable.
C. stable quality.
D. 1he worktorce size,

17. The total of all outputs produced by the transformation process divided by the total of
the inpurs 1s:

uriiization. :

greater in manufacturing than in services.

defined only for manufacturing firms.

multifactor productivity.

SOTe

18. Productivity can be improved by:
A. Increasing inputs while hoiding outputs steady.
B. decreasing oulputs while holding inputs steady.
C. increasing inputs and outputs in the same proportion.
D. decreasing inputs while holding cutputs steady,

19. A firm can effectively use its operations function 1o yield competitive advantage
through all of the foliowing EXCEPT:
4. customization of the product,
* %elling equipment utilization goals below the industry average,
© eed of delivery,
+ “Qistant innovation of new products,

20, :Thﬂ ai:'nllt}' ¥ an organization to produce goods or services that have somie unigreness
it their characiggies s

A time-based “~mpetition.

B. competing on Foductivity.
. COmpcting on quy ity.

D. competing on diffewptiation.

2i. Which of the fullowing 15 the begt

A, A firm produces it prodduey

B. A firm offers mo

C. A firm's product
WOgucts are.,

D. A4%rm's research and developmens
ProQaers,

cxurnple of competing on low-cost leadership?
with less raw material waste than its competitors do.
re reliable products than its competitors do.

§ are introduced into the market faster than its cotnpetitors'

department generates many ideas for new

22, Which of the Sollowing is an example of competing on quick response?

g* A firm P!'t_duces its prfrduct with less raw material waste than jis competitors do.
- A firm oftery more rchable products than its competitars do.

C. A Hrm's products are introduced into the market faster than its competitors'
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Products. ) .
D. A firm utilizes its capacity more eftectively than its competitors do.

23. Cost minimization is an appropriate strategy in which stage of the produet life cycle?
A, introduciion
B. growth
C. adolescence
D. dechne

e — A a—

24, Which of the following OM strategy/issues should a firm with a product in the maturity
stage of its life cycle be LEAST concerned with at the present time?
A, Imcrcase capacity
B. long production runs
C. standardization
[). cost cutung

25 What is the practice of translerring a finn's aclivities that have traditionally been
internal to external suppliers?

nearsforing

tarshoring

ottshoring

OUtSOUrCINg

26. Which of the following is not an advantage of outsourcing?

COST Savings

gaining outside expertise

improving operations and service

. guispurcing core competencies

CowrE UOWR

27. The forccasting technique that pocls the opinions of a group of experts or managers is
knowmn as:
A. the expert judgment model.
B. muitiple regression.
C. jury of executive opinon.
D). market survey,

28. Which of the following is not a type ot qualitative forecasting?
A. jury of executive opinion ‘
B. sales force composite
C. market survey
[:. moving average

29. Which of the following stalemnents about time-series forecasting is true?

A. It is always based on the assumption that future demand will be the same as past
demnand.

B. It makes extensive use of the data collected in the qualitative approach.

C. Itis based on the assumption that the analysis of past defand helps predict future
demand.

D. Becaunse it accounis tor trends, cycles, and seasonal patterns, it is always more
powerful than associative forecasting.
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30. Time-series data may exhibit which of the following behaviors?
A. reng
B. random variations
. seasonauty
D. They may exhibit all of the above,

31. Gradual upward or downward movement of data over time is called:
A. 32asOnanLy.
B. acycie.
C. 2 wena,
3. exponentiai variation,

32. The fundamental difference between cycles and seasonality is the:
A. duration of the repeating patterns.
B. magnitude of the variation, -
C. ability to attribute the pattern to a cause.
D. all of the above

33. Which time-series model below assumes that demand in the next period will be equal to
the most recent period's demand?
A. naive approach
B. moving average approach
. weighted moving average approach
). exponential smoothing approach

34. Which time-series model uses BOTH past forecasts and past demand <ata to generate a
new ferecast’ -

naive

MOVINE averagc

weighted moving average

expongntial smoothing

Cnwe

335. Given an actual demand this period of 103, a forecast value for this period of 99, and an
alpha of .4, what is the exponential smoothing forecast for next period?
A, 946
B. ¥7.4
C. 1006
D. 1U1.6

36. A forecast based on the previous torecast plus a percentage of the forecast error is a(njy:
A. naive forecast. :
B. moving average torecast.
€. weighted moving average torecast,
D, exponential smoothing forecast.

37. The primary purpose of the mean absolute deviation (MAD) in forecasting is to:
A. estimate the trend line.
B. eliminate torecast errors.
C. measure rorecast accuracy.
3. seascnally adjust the torecast.
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18 Given forecast errors of -1, 4, 8, and -3, what is the mean absolute deviation?

Al 2
B 3
.

D. 3

39. If Brandon Edward were working to develop a forecast using a moving averages
approach, but he noticed a detectable wend in the historical data, he should:
A. use weights to place more emphasis on recent data.
B. use weights to minimize the importance of the trend.
C. change to an associative multiple regression approach.
[D. use a simple moving average.

40, Which of the following represents an opportunity for generating a new product?
demographic change, such as decreasing family size

changes in professional standards

economic change, such as rising household incomes

All of the above are such opportunities.

oW

41. Quality function deployment {QF1D):
A. determines what will satisfy the customet.
B. translates customer desires into the target design.
C. is used to determine where to deploy qualily efforts.
D. all ot the above

42, A result of concurrent engineeting in product design is:
A. speedier product development.
B. lower quality.
C. less customer demand.
D. higher costs.

43, Which of the following is TRUE regarding computer-aided design?
A. 1t is too expenstve to use in most manufacturing and design seitings.
B. It is an obsclete technology.
C. 1t results in longer development cyctes for virtually alf products.
D. It is the use of computers to interactively design products and prepare engineering
documentation,

44. Utilization will always be lower than eiticiency because:
A. effective capacity is less than design capacity.
B. effective capacity is greater than design capacily.
C. effective capacity equals design capacity.
D). expected output is less than actual output,

45. Adding a complementary product to what is currently being produced is 2 demand
management strategy used when:
A. demand exceeds capacity.
B. capacily exueeds demand for a product that has stable demand.
C. the existing product has seasonal or ¢yclical demand.
D. price increases have failed to bring about demand management.
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46. [f demand exceeds capacity, an Organization can use which of the following 10 adjust
demand to an existing facility?
A. aggressive marketing
B. lower prices
. build a facility of the correct siz¢
D. add a complementary product

47. Break-even is the number of units at which
A. total revenue equals total variahle cost
B. total revenue cquals total fixed cost
C. total profit equals tota) cost
D. total revenue equals total cost

48. Which of the following ig true about 180 14000 certification?
A. Tt deals with environmental management.
B. 1t offers a good systematic approach to pollution prevention.
C. One of its core ¢lements is life-cyele assessment.
3. All of the above are true.

49. A successful TQM program INCOTpOraes all of the following except
A. conunucus Improvement
B. employee involvement
C. benchmarking
D. centralized decision-makKing authority

50, "Kaizen™ is a Japanese term mearing
A. a foolprool mechanism
B. just-in-time JIT)
(. setting standards
D. continuous improvement

51. A popular tool for planning and scheduiing simple projects, and for initial planning on
more complex projects, is the:
A. activify-on-arrows network
B. activity-on-nodes network
C. Gantt chart
D. ecritical path methed

52.Loss of business, liability, productivity and costs are consequences of ___.
A. Labor Unions
B. Gilobalization
. Poor Quality
D. Robotics

53. Fixing a problem will olien cost money. (o minimize these costs it is best to find and fix

the probtem ____
A. just before shipping our product to the customer
B. immediately after we complete the last operation
C. during the design phase
D. just before we begin the tirst production operation
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54. A quality cicle s .

A. responsible for quality

B. total quality conirol

C. an inspection stamp found on meat

D. a voluntary group of employces .-
55, The quality contro! improvement tool which distinguishes between the "impormA-Rew e

and the "trivial many™ is

A. braimnstorming.

B. check sheets.

C. Pareto analysis.

D. cause-and-ettect diagrams.

56. Which of the following is an element of TQM?
continual improvement

compctitive benchmarking

TCAIm aApproacn

atl of the above

=R

57. Giving workers responsibility for quality improvements and authority 1o make changes
is known as:
A. continuous improvement
B. passing the buck
C. benchmarking
D. employee empowerment
3. The quality control improvement tool that resembles a "fishbone™ is ___.
A. brainstorming
B. Pareto analysis
C. cause-and-effect diagrams
D. %il-sate methods

59. The process of dismantling and inspecting a competitor’s new or revised produci for the
purpose of gleaning design ideas is called:
A. design by imitation
% product analysijs
T eVEerse engineering
D. dgassembly

60. 1deas i pew or improved designs can come from:
A, CUSlogepy

B. compeygrs

C. researts and development departments
D. all of the above

Central Universiy Sl R e e
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SECTION B (20 MARKS) Y

Fill in the blanks and write the correct answer in your answer booklet. Answer all

question only (2 Marks Each)

1. Competition in the 21st century is no Jonger between companies; it is between

2. 15 a torecasting technique based upon salespersons' estimates of
expected sales.

3. It a barbershop operator noted that Tuesday's business was typically twice as heavy as
Wednesday's, and that Friday's business was tvpicatly the busiest of the week,
business a1 the barbershop is subject to

4, 15 the number of units a facility can hold, store, receive, or produce in a

period of time.

5. I3 actual output as a pereent of design capacity.
6. ... 18 actuai outpn as a percent of effective capacity.

7. Characteristics of an organisation’s goods or services that cause it to be perceived as
better than the competition is referred to as

8. The Academic Computing Center has five trainers available in its computer labs to
provide training $essions to students. Assume that the design capacity of the system is
1900 students per semester and that effective capacity equals 90% of design capaciry,
If the number of students who actually got their oricntation session is 1500, what is
the efticiency of the system? _

9. John's Kakabo Valves produces cast bronze valves on an assembtly line, currently
producing 1600 valves per shifi. If the production is increased to 2000 valves per
sh#, labor productivity wilt increase by

10. A timeseries trend equation is 25.3 + 2.1x. What is your forecast for period 77

e e S,
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SECTION C {20 MARKS)

Section B: Answer one {1) question only (20 Marks Each)

1. Hotsew Inc. is a company that produces sports deodorants. On studying its past sales for

2018, the management obscrved 2 certain trend as shown in the table below. The

management wants to know the possible demand for the first quarter of 2019,

1 l"l 13 4 5 6 7 8 9 10 1l 12
Month [an [Feb Mar |Apr May Jun  Jul |Aug Sep [Oct ov
Sales 51 155 |54 57 - |50 68 o |59 7 K9 5 {13
Requirea:

Use the data to Caleulate the values of T0G Y Y; X XY; X% 1Y? (5 marks)
b. Compute the values of “a” and “h" in the Least squarc regression line Y=a +

{dmarks)

bX

¢. Determine the trend equation tor the forecast. (3 marks)

d. Determine the forecasts for the first four months of the nexi year. (2 marks

earh)

2. Nenyin Yartel Company Limited produces and selis “Sobole” in Ghana. The selling price
of a bottle of Sobalo is Ghel0, and the Variabie cost per bottle of “Sobolo” is 80% of the

selling price. The Company's lixed cost is Ghe 6, 000.

Requireo

a
b.

e,

e

Calculate the contribuiion per bottle of Svbolo (2marks)

Compute the bottles of Sobole to produce and seil to breakeven(3marks)

Calculate the Tota! Revenue(Sales Vaiue) at the breakeven point (2marks}

If the company desires to make a profit of Ghc8,000, how many bottles should the

company produce and sell’{(3marks)

Due to increases in the price level, the company’s selling price is increased by

50%. the variable cost per unit still remains at 80% of the selling price and fixed

cost rises by 20%. Calculate the new breakeven point in units and in sales value.

{1imarks}

Addae Korankve & Asibu-Yartey

10



